Math373

Quiz 4

Fri. Feb 11, 2022
Name: SG,‘A‘.MY

Directions: Show all work. No credit for answers without work

1. [2 parts, 3 points each| Orders in Z3

(a) Find the order of 2 in Z;3. Is 2 a primitive root?
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(b) Find the order of 3 in Z;3. Is 3 a primitive root?
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2. [4 points] Use Fermat’s Little Theorem to compute the inverse of 17 in Fa7
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29, = L56-R5 = 7)=71-74 = =3

(2 34)
3= 32 4+ 2 1|
(1 = @ @ 7= (-3 ( (<7)-(r7) = 2)-17= 2o+ 17=35]
- 357-370 = -13 :.
Clack: 2917 =

290+ 163 = 4p§ = 408 -370=3% = | s



